
CHEMISTRY

BOOKS - OSWAL PUBLICATION

CARBON COMPOUNDS

Stand Alone Mcqs

1. Which of the following is not observed in a homologous

series? Give reason for your choice.

A. Change in chemical properties

B. Difference in-  , and 14u molecular mass

C. Gradation in physical properties

CH
2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_42QhIZ2Yu5UB


D. Same functional group

Answer: A

Watch Video Solution

2. Ethane, with the molecular formula  has

A. 6 covalent bonds

B. 7 covalent bonds

C. 8 covalent bonds

D. 9 covalent bonds

Answer: B

Watch Video Solution

C2H6

https://dl.doubtnut.com/l/_42QhIZ2Yu5UB
https://dl.doubtnut.com/l/_jZB73By2okHW


3. Carbon forms four covalent bonds by sharing its four

valence electrons with four univalent atoms, e.g., hydrogen.

After the formation of four bonds, carbon attains the

electronic configuration of

A. helium

B. neon

C. argon

D. krypton

Answer: B

Watch Video Solution

4. The correct electron dot structure of a water molecule is

https://dl.doubtnut.com/l/_g425wPo55iR8
https://dl.doubtnut.com/l/_KUwn1qIyUN4h


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution
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5. Oils on treating with hydrogen in the presence of

palladium or nickel catalyst from fats. This is an example of (

ऑयल को जब हाईड्रो जन से क्रिया करवाते है उत्प्रेरक की उपस्थिति मे तो यह

किस का उदाहरण है )

A. Addition reaction

https://dl.doubtnut.com/l/_KUwn1qIyUN4h
https://dl.doubtnut.com/l/_y6IvDzV7OGPJ


B. Substitution reaction

C. Displacement reaction

D. Oxidation reaction

Answer: A

Watch Video Solution

6. Sodium hydrogen carbonate when added to acetic acid

evolves a gas. Which of the following statements are true

about the gas evolved ? 

(i) It turns lime water milky 

(ii) It extinguishes a burning splinter 

(iii) It dossolves in a solution of of sodium hydroxide 

(iv) It has a pungent odour

https://dl.doubtnut.com/l/_y6IvDzV7OGPJ
https://dl.doubtnut.com/l/_GzUQ0RKFNzcA


A. (a) and (b) only

B. (b) and (d) only

C. (a), (c) and (d)

D. (a), (b) and (d)

Answer: D

Watch Video Solution

7. While cooking, if the bottom of the vessel is getting

blackened on the outside, it means that

A. the food is not cooked completely

B. the fuel is not burning completely.

C. the fuel is wet.

https://dl.doubtnut.com/l/_GzUQ0RKFNzcA
https://dl.doubtnut.com/l/_ChFvkEXlkLXC


Assertion And Reason Based Mcqs

D. the fuel is burning completely

Answer: B

Watch Video Solution

1. Assertion (A): In a homologous series of alcohols, the

formula for the second member is  and the third

member is . 


Reason (R): The difference between the molecular masses of

the two consecutive members of a homologous series is 14u.

A. Both A and R are true and R is the correct explanation

of A.

C2H5OH

C3H7OH

https://dl.doubtnut.com/l/_ChFvkEXlkLXC
https://dl.doubtnut.com/l/_jhmmx7lR4Ozh


B. Both A and R are true but R is NOT the correct

explanation of A.

C. A is true but R is false.

D. A is false and R is true.

Answer: C

Watch Video Solution

2. Assertion (A): Following are the members of a homologous

series  


Reason (R): A series of compounds with same functional

group but differing by- , - unit is called a homologous

series.

CH3OH, CH3, CH2, OH, CH3, CH2, CH2OH

CH2

https://dl.doubtnut.com/l/_jhmmx7lR4Ozh
https://dl.doubtnut.com/l/_BypYgYLdHiBL


A. Both A and R are true and R is the correct explanation

of A.

B. Both A and R are true but R is NOT the correct

explanation of A.

C. A is true but R is false.

D. A is false and R is true.

Answer: A

Watch Video Solution

3. Assertion (A): Following are the structural isomers of

boutane. 
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https://dl.doubtnut.com/l/_BypYgYLdHiBL
https://dl.doubtnut.com/l/_IZ10zIxUxMVy


 

Reason (R): Structural isomers have the same molecular

formula but they differ in their structures.

A. Both A and R are true and R is the correct explanation

of A.

B. Both A and R are true but R is NOT the correct

explanation of A.

C. A is true but R is false.

D. A is false and R is true.

Answer: A

Watch Video Solution
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https://dl.doubtnut.com/l/_IZ10zIxUxMVy
https://dl.doubtnut.com/l/_tRU0jqu51Gf6


4. Assertion (A): Third member of alkane is propane  


Reason (R): It is obtained from general formula 

A. Both A and R are true and R is the correct explanation

of A.

B. Both A and R are true but R is NOT the correct

explanation of A.

C. A is true but R is false.

D. A is false and R is true.

Answer: A

Watch Video Solution

(C3H8)

CnH2n+ 2

https://dl.doubtnut.com/l/_tRU0jqu51Gf6


5. Assertion (A):  is obtained from  by the action

of , in the presence of sunlight. 


Reason (R): It is obtained by addition reaction.

A. Both A and R are true and R is the correct explanation

of A.

B. Both A and R are true but R is NOT the correct

explanation of A.

C. A is true but R is false.

D. A is false and R is true.

Answer: C

Watch Video Solution

CH3CI CH4

Cl2

https://dl.doubtnut.com/l/_AjwclCWUjDTA
https://dl.doubtnut.com/l/_YSaV9FLDuEeN


6. Assertion (A): Most of the carbon compounds are good

conductors of electricity. 

Reason (R): They do not dissociate to form ions and remain

as molecules.

A. Both A and R are true and R is the correct explanation

of A.

B. Both A and R are true but R is NOT the correct

explanation of A.

C. A is true but R is false.

D. A is false and R is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YSaV9FLDuEeN


Case Based Mcqs

1. A homologous series is a series of organic compounds

which belong to the same family (i.e. possess same functional

group) and show similar chemical properties. The members

of this series are called homologous and differ from each

other by the number of , units in the main carbon chain


The chemical properties of which of the following

compounds is similar to the butane?

A. Butyne

B. Propene

C. Propyne

D. Pentane

Answer: D

CH2

https://dl.doubtnut.com/l/_CcVMDmmalXTP


Watch Video Solution

2. A homologous series is a series of organic compounds

which belong to the same family (i.e. possess same functional

group) and show similar chemical properties. The members

of this series are called homologous and differ from each

other by the number of , units in the main carbon chain


The difference between two consecutive members in a

homologous series in alkanes in terms of molecular mass and

number of atoms of elements is:

A. 14 a.m.u and , respectively

B. 12 a.m.u and , respectively

C. 14 a.m.u and , respectively

D. 12 a.m.u and , respectively

CH2

CH2

CH3

CH

CH4

https://dl.doubtnut.com/l/_CcVMDmmalXTP
https://dl.doubtnut.com/l/_oDb1HGxoiQ2Z


Answer: A

Watch Video Solution

3. A homologous series is a series of organic compounds

which belong to the same family (i.e. possess same functional

group) and show similar chemical properties. The members

of this series are called homologous and differ from each

other by the number of , units in the main carbon chain


The name and structure of a saturated compound in which 6

carbon atoms are arranged in a ring is :

A. Hexane

B. Cyclohexane

C. Pentane

CH2

https://dl.doubtnut.com/l/_oDb1HGxoiQ2Z
https://dl.doubtnut.com/l/_xziDhBr2ubaJ


D. cyclopentane

Answer: B

Watch Video Solution

4. A homologous series is a series of organic compounds

which belong to the same family (i.e. possess same functional

group) and show similar chemical properties. The members

of this series are called homologous and differ from each

other by the number of , units in the main carbon chain


Which of the following is not the property of a homologous

series?

A. They show similar chemical properties.

B. They differ by 14 units by mass.

CH2

https://dl.doubtnut.com/l/_xziDhBr2ubaJ
https://dl.doubtnut.com/l/_vGsuDDsMyq85


C. They all contain double bond

D. They can be represented by a general formula.

Answer: C

Watch Video Solution

5. A homologous series is a series of organic compounds

which belong to the same family (i.e. possess same functional

group) and show similar chemical properties. The members

of this series are called homologous and differ from each

other by the number of , units in the main carbon chain


Which of the following represent the name and formula of

the  member of homologous series having general

formula  ?

CH2

2nd

CnH2n+ 2

https://dl.doubtnut.com/l/_vGsuDDsMyq85
https://dl.doubtnut.com/l/_BDj1iyigYZca


A. Methane 

B. Ethane 

C. Ethane 

D. Ethyne 

Answer: B

Watch Video Solution

CH4

C2H6

C2H4

C2H6

6. Carbon has the unique property to form bonds with other

atoms of carbon. 

 


Name the characteristic property of carbon as depicted in

the fig. A
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https://dl.doubtnut.com/l/_BDj1iyigYZca
https://dl.doubtnut.com/l/_iKgSS72PQRPb


A. Catenation

B. Polymerisation

C. Isomerisation

D. None of the above

Answer: A

Watch Video Solution

7. Carbon has the unique property to form bonds with other

atoms of carbon. 

 


Carbon forms large number of compounds due to:

A. Catenation only
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https://dl.doubtnut.com/l/_iKgSS72PQRPb
https://dl.doubtnut.com/l/_z4NMO0cvelBw


B. Tetravalency only

C. Both catenation and tetravalency

D. None of the above

Answer: C

Watch Video Solution

8. Carbon has the unique property to form bonds with other

atoms of carbon. 

 


Write the name and structure of a saturated compound in

which 6 carbon atoms are arranged in a ring.

A. Hexane
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https://dl.doubtnut.com/l/_z4NMO0cvelBw
https://dl.doubtnut.com/l/_GcYwXUM4YJM6


B. Cyclohexane

C. Pentane

D. cyclopentane

Answer: B

Watch Video Solution

9. Carbon has the unique property to form bonds with other

atoms of carbon. 

 


Give the number of single bonds present in 

compound.

A. 16
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C6H12

https://dl.doubtnut.com/l/_GcYwXUM4YJM6
https://dl.doubtnut.com/l/_9qOKfaADb0wG


B. 14

C. 6

D. 18

Answer: D

Watch Video Solution

10. Carbon has the unique property to form bonds with other

atoms of carbon. 

 


Carbon is:

A. Divalent

B. Monovalent
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https://dl.doubtnut.com/l/_9qOKfaADb0wG
https://dl.doubtnut.com/l/_hyBzZlxKTo3P


C. tetravalent

D. Trivalent

Answer: C

Watch Video Solution

11. An organic compound A of molecular formula , on

reduction gives another compound B of molecular formula

 .B on reaction with chlorine in the presence of sunlight

gives C of molecular formula  . 

The compounds A, B and Care:

A. A: ethene B: ethane C: chloroethane

B. A: ethane B: ethyne C: chloromethane

C. A: ethyne B: ethane C: chloroethane

C2H4

C2H6

C2H5CI

https://dl.doubtnut.com/l/_hyBzZlxKTo3P
https://dl.doubtnut.com/l/_14zYkhSrNTJx


D. A: ethene B: ethyne C: chloroethane

Answer: A

Watch Video Solution

12. An organic compound A of molecular formula , on

reduction gives another compound B of molecular formula

 .B on reaction with chlorine in the presence of sunlight

gives C of molecular formula  . 

Unsaturated hydrocarbons undergo________ reaction

A. Substitution

B. Halogenation

C. Addition

D. All of the above

C2H4

C2H6

C2H5CI

https://dl.doubtnut.com/l/_14zYkhSrNTJx
https://dl.doubtnut.com/l/_TDrSkL91a3B6


Answer: C

Watch Video Solution

13. An organic compound A of molecular formula , on

reduction gives another compound B of molecular formula

 .B on reaction with chlorine in the presence of sunlight

gives C of molecular formula  . 

Which of these statements is correct regarding addition

reaction?

A. Addition of hydrogen does not require catalyst.

B. Multiple bonds (double and triple bonds) must be

present between carbon atoms in the chain of

hydrocarbon.

C2H4

C2H6

C2H5CI

https://dl.doubtnut.com/l/_TDrSkL91a3B6
https://dl.doubtnut.com/l/_X5NB0p1bjt14


C. Multiple bonds are not required for the reaction to

take place.

D. None of the above.

Answer: B

Watch Video Solution

14. An organic compound A of molecular formula , on

reduction gives another compound B of molecular formula

. B on reaction with chlorine in the presence of sunlight

gives C of molecular formula  . 

The general formula for alkene is:

A. 

B. 

C2H4

C2H6

C2H5CI

CnH2n

CnH2n+ 2

https://dl.doubtnut.com/l/_X5NB0p1bjt14
https://dl.doubtnut.com/l/_QJNOOdwI2bWD


C. 

D. 

Answer: A

Watch Video Solution

CnH2n− 2

CnH2n+ 1

15. An organic compound A of molecular formula , on

reduction gives another compound B of molecular formula

 .B on reaction with chlorine in the presence of sunlight

gives C of molecular formula  . 

Choose the correct condition for conversion of ethene to

ethane:

A. Dehydrogenation at  C

C2H4

C2H6

C2H5CI

450∘

https://dl.doubtnut.com/l/_QJNOOdwI2bWD
https://dl.doubtnut.com/l/_0CybZD9odyB5


Self Assessment Objective Type Questions A Multiple Choice

Questions

B. Hydrogenation in presence of catalyst like nickel or

platinum

C. Photolytic decomposition

D. All of the above

Answer: B

Watch Video Solution

1. Which of the following is not a characteristic of

homologous series ?

A. They have different general formula .

https://dl.doubtnut.com/l/_0CybZD9odyB5
https://dl.doubtnut.com/l/_lzX5ucthr81k


B. The successive compounds differ by  unit.

C. Molecular mass increases down the series.

D. Members of homologous series show similar chemical

properties.

Answer:

Watch Video Solution

−CH2

2. Write the name and structure of an alcohol with three

carbon atoms in its molecule.

A. Methanol

B. Ethanol

C. Propanol

https://dl.doubtnut.com/l/_lzX5ucthr81k
https://dl.doubtnut.com/l/_TLRId982DdS5


D. Butanol

Answer:

Watch Video Solution

3. Which of these will contain covalent double bond between

its atoms ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2

O2

Cl2

NaCl

https://dl.doubtnut.com/l/_TLRId982DdS5
https://dl.doubtnut.com/l/_ANERrSLdTXXA


Self Assessment Objective Type Questions Questions C

Assertopm And Reason Type Questions

1. Assertion : Following are the structural isomers of butane. 

 

Reason : Structural isomers have the same molecular formula

but they differ in their structures.

A. Both assertion (A) and reason (R ) are true and reason

(R ) is the correct explanation of assertion (A).

https://dl.doubtnut.com/l/_ANERrSLdTXXA
https://dl.doubtnut.com/l/_1caXpOxxweAS


B. Both assertion (A) and reason (R ) are true but reason

(R ) is not the correct explanation of assertion (A).

C. Assertion (A) is true but reason (R ) is false.

D. Assertion (A) is false but reason (R ) is true.

Answer:

Watch Video Solution

2. Assertion : Third member of alkane is propane  


Reason : It is obtained from general formula 

A. Both assertion (A) and reason (R ) are true and reason

(R ) is the correct explanation of assertion (A).

(C3H8)

CnH2n+ 2

https://dl.doubtnut.com/l/_1caXpOxxweAS
https://dl.doubtnut.com/l/_sn5Zg9Wab8lX


Self Assessment Objective Type Questions Questions C Very

Short Answer Type Questions

B. Both assertion (A) and reason (R ) are true but reason

(R ) is not the correct explanation of assertion (A).

C. Assertion (A) is true but reason (R ) is false.

D. Assertion (A) is false but reason (R ) is true.

Answer:

Watch Video Solution

1. Assertion : The most of carbon compounds are good

conductors of electricity. 

https://dl.doubtnut.com/l/_sn5Zg9Wab8lX
https://dl.doubtnut.com/l/_5fdffVnMpgB9


Self Assessment Objective Type Questions Questions D Very

Short Answer Type Questions

Reason : They do not dissociate to form ions and remain as

molecules.

A. Both assertion (A) and reason (R ) are true and reason

(R ) is the correct explanation of assertion (A).

B. Both assertion (A) and reason (R ) are true but reason

(R ) is not the correct explanation of assertion (A).

C. Assertion (A) is true but reason (R ) is false.

D. Assertion (A) is false but reason (R ) is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5fdffVnMpgB9


1. Define catenation.

Watch Video Solution

2. The molecular formula of 'A' is  and B is 

.Name the homologous series to which they belong.

Watch Video Solution

C10H18 C18H36

3. Select the saturated hydrocarbons from the following 

Watch Video Solution

C3H6, C5H10, C4H10, C6H14, C2H4

https://dl.doubtnut.com/l/_ifyst0STPY5u
https://dl.doubtnut.com/l/_Z6uqC7rk5Uq7
https://dl.doubtnut.com/l/_IyG1tDnzthHM


Self Assessment Objective Type Questions Questions D Short

Answer Type Questions

Self Assessment Objective Type Questions Questions D Long

Answer Type Questions

4. Write the molecular formula of the following : (i) Hexane ,

(ii) Benzene.

Watch Video Solution

1. What are isomers ? Isomers of the first three members of

alkane series are not possible. why?

Watch Video Solution

https://dl.doubtnut.com/l/_jm8bTnRERsUZ
https://dl.doubtnut.com/l/_NHbT8C0iMLJm
https://dl.doubtnut.com/l/_3Ckwoyj2fvcJ


1. The formula of four organic compounds are given below : 

 


Which one of these compounds A,B,C or D is a saturated

hydrocarbon ?

Watch Video Solution

2. The formula of four organic compounds are given below : 

 


Identify the organic acid and give its structural formula.

Watch Video Solution

https://dl.doubtnut.com/l/_3Ckwoyj2fvcJ
https://dl.doubtnut.com/l/_IjIHRiIfnwVg


3. The formula of four organic compounds are given below : 

 


Which of the above compounds when heated at 443 K in the

presence of concentrated  forms ethene as the major

product ? What is the role played by concentrated  in

this reaction ? Also ,write the chemical equation involved.

Watch Video Solution

H2SO4

H2SO4

4. The formula of four organic compounds are given below : 

 


Give a chemical equation when B and C react with each other

https://dl.doubtnut.com/l/_cCOdEZxl3GJE
https://dl.doubtnut.com/l/_hvC4ZWb19M9c


Ncert Corner Intext Questions

in presence of concentrated . Name the major

product formed and mention one of its important use.

Watch Video Solution

H2SO4

1. What would be the electron dot structure of carbon

dioxide which has the formula ?

Watch Video Solution

CO2

2. What would be the electron dot structure of a molecule of

sulphur which is made up of eight atoms of sulphur? (Hint −

https://dl.doubtnut.com/l/_hvC4ZWb19M9c
https://dl.doubtnut.com/l/_VBO1jBYQadh6
https://dl.doubtnut.com/l/_7YTpEfuAblFW


the eight atoms of sulphur are joined together in the form of

a ring.)

Watch Video Solution

3. How many structural isomers can you draw for pentane?

Watch Video Solution

4. What are the two properties of carbon which lead to the

huge number of carbon compounds we see around us?

Watch Video Solution

https://dl.doubtnut.com/l/_7YTpEfuAblFW
https://dl.doubtnut.com/l/_KDJIUXRFEwhu
https://dl.doubtnut.com/l/_SriDejyWwp6y


5. What will be the formula and electron dot structure of

cyclopentane?

Watch Video Solution

6. Draw the structures of the following compounds: 

Ethanoic acid

Watch Video Solution

7. Draw the structures for the following compounds. 

Bromopentane 

Are structural isomers possible for bromopentane

Watch Video Solution

https://dl.doubtnut.com/l/_Tjvy20rvQibZ
https://dl.doubtnut.com/l/_suCc3SxLgHYh
https://dl.doubtnut.com/l/_JYVNlkfPoEJD


8. Draw the structures of the following compounds: 

Butanone

Watch Video Solution

9. Draw the structure for the following compound: 

Hexanal.

Watch Video Solution

10. How would you name the following compounds? 

Watch Video Solution

CH3 − CH2 − Br

https://dl.doubtnut.com/l/_qVAdB72Vv7tC
https://dl.doubtnut.com/l/_ylNEAdPOiadZ
https://dl.doubtnut.com/l/_zA67zTlSTZ2b
https://dl.doubtnut.com/l/_OrHKekMF9RCp


11. How would you name the following compounds? 

Watch Video Solution

H −

H
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12. How would you name the following compounds ? 

Watch Video Solution
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13. Why is the conversion of ethanol to ethanoic acid an

oxidation reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_OrHKekMF9RCp
https://dl.doubtnut.com/l/_IzMe367mBSgi
https://dl.doubtnut.com/l/_HAMf0bOxjU62


14. A mixture of oxygen and ethyne is burnt for welding. Can

you tell why a mixture of ethyne and air is not used?

Watch Video Solution

15. How would you distinguish experimentally between an

alcohol and a carboxylic acid?

Watch Video Solution

16. What are oxidising agents?

Watch Video Solution

https://dl.doubtnut.com/l/_IghE3Mdzdo8t
https://dl.doubtnut.com/l/_rZkeYSTMK8qk
https://dl.doubtnut.com/l/_oAdWmbBpJoZ6


Ncert Corner Exercise Questions

17. Would you be able to check if water is hard by using a

detergent?

Watch Video Solution

18. People use a variety of methods to wash clothes. Usually

after adding the soap, they ‘beat’ the clothes on a stone, or

beat it with a paddle, scrub with a brush or the mixture is

agitated in a washing machine. Why is agitation necessary to

get clean clothes?

Watch Video Solution

https://dl.doubtnut.com/l/_U6q9imrELHxC
https://dl.doubtnut.com/l/_NteR40f5EaT0
https://dl.doubtnut.com/l/_SAuwyqedpVPt


1. Ethane, with the molecular formula  has

A. 6 covalent bonds

B. 7 covalent bonds

C. 8 covalent bonds

D. 9 covalent bonds

Answer: B

Watch Video Solution

C2H6

2. Butanone is a four-carbon compound with the functional

group

A. carboxylic acid

B. aldehyde

https://dl.doubtnut.com/l/_SAuwyqedpVPt
https://dl.doubtnut.com/l/_zGpljcTr0zzJ


C. ketone

D. alcohol

Answer: C

Watch Video Solution

3. While cooking, if the bottom of the vessel is getting

blackened on the outside, it means that

A. the food is not cooked completely.

B. the fuel is not burning completely.

C. the fuel is wet.

D. the fuel is burning completely.

Answer: B

https://dl.doubtnut.com/l/_zGpljcTr0zzJ
https://dl.doubtnut.com/l/_1yA0eiUti6q0


Watch Video Solution

4. Explain the nature of the covalent bond using the bond

formation in .

Watch Video Solution

CH3Cl

5. Draw the electron dot structures for 

Ethanoic acid

Watch Video Solution

6. Draw the electron dot structures for 

W t h Vid S l ti

H2S

https://dl.doubtnut.com/l/_1yA0eiUti6q0
https://dl.doubtnut.com/l/_7UAx2fpKgMOd
https://dl.doubtnut.com/l/_wAzsR4VXwMOX
https://dl.doubtnut.com/l/_s9oU8xNNeI3s


Watch Video Solution

7. Draw the electron dot structures for : 

propanone.

Watch Video Solution

8. Draw the electron dot structures for 

Watch Video Solution

F2

9. What is a homologous series ? Explain with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_s9oU8xNNeI3s
https://dl.doubtnut.com/l/_bYIhMfKL36Z4
https://dl.doubtnut.com/l/_by9dBTxNlv8R
https://dl.doubtnut.com/l/_jZeCKZGeE7eS
https://dl.doubtnut.com/l/_kFwGfjvQeXcA


10. How can ethanol and ethanoic acid be differentiated on

the basis of their physical and chemical properties ?

Watch Video Solution

11. Why does micelle formation take place when soap is added

to water? Will a micelle be formed in other solvents such as

ethanol also?

Watch Video Solution

12. Why are carbon and its compounds used as fuels for most

applications?

Watch Video Solution

https://dl.doubtnut.com/l/_kFwGfjvQeXcA
https://dl.doubtnut.com/l/_6NgXA85JaVDp
https://dl.doubtnut.com/l/_LZsQvXdLCs8k


13. Explain the formation of scum when hard water is treated

with soap.

Watch Video Solution

14. What change will you observe if you test soap with litmus

paper (red and blue)?

Watch Video Solution

15. What is hydrogenation? What is its industrial application?

Watch Video Solution

https://dl.doubtnut.com/l/_O0YOBgrRLaV2
https://dl.doubtnut.com/l/_sEhRfkX7u6XW
https://dl.doubtnut.com/l/_F9CJ9RcjRUsD


Ncert Exemplar Multiple Choice Questions

16. Which of the following hydrocarbons undergo addition

reactions: .

Watch Video Solution

C2H6, C3H8, C3H6, C2H2  and CH4

17. Give a test that can be used to differentiate chemically

between butter and cooking oil.

Watch Video Solution

18. Explain the mechanism of the cleaning action of soaps.

Watch Video Solution

https://dl.doubtnut.com/l/_WPt6hJG5BBoT
https://dl.doubtnut.com/l/_oGjBVaPmTEAo
https://dl.doubtnut.com/l/_SEbYrDSBsSgC


1. Carbon exists in the atmosphere in the from of

A. carbon monoxide only.

B. carbon monoxide in traces and carbon dioxide.

C. carbon dioxide only .

D. coal.

Answer: B

Watch Video Solution

2. Which of the following statements are usually correct for

carbon compounds ? These 

are good conductors of electricity. 

https://dl.doubtnut.com/l/_qRRHrRNLU0vf
https://dl.doubtnut.com/l/_OMyKmABuEp1P


are poor conductors of electricity. 

have strong forces of attraction between their molecules. 

do not have strong forces of attraction between their

molecules.

A. (i) and (iii)

B. (ii) and (iii)

C. (i) and (iv)0

D. (ii) and (iv)

Answer: D

Watch Video Solution

3. A molecule of ammonia  has ( अमोनिया अणु है )(NH3)

https://dl.doubtnut.com/l/_OMyKmABuEp1P
https://dl.doubtnut.com/l/_i4Pz4ne28kO4


A. only single bonds

B. only double bonds

C. only triple bonds

D. two double bonds and one single bonds

Answer: A

Watch Video Solution

4. Buckminster fullerene is an allotropic form of

A. phosphorus

B. sulphur

C. carbon

D. tin

https://dl.doubtnut.com/l/_i4Pz4ne28kO4
https://dl.doubtnut.com/l/_Fr53y9hy1Hqv


Answer: C

Watch Video Solution

5. Which of the following are correct chain isomers of butane

? 

(i)  

A. (i) and (iii)

https://dl.doubtnut.com/l/_Fr53y9hy1Hqv
https://dl.doubtnut.com/l/_SoPPua5VxfC5


B. (ii) and (iv)

C. (i) and (ii)

D. (iii) and (iv)

Answer: C

Watch Video Solution

6.  


In the above given reaction, alkaline  acts as

A. reducing agent

B. oxidising agent

C. catalyst

D. dehydrating agent

CH3 − CH2 − OH
AlkalineKMnO4 + Heat

−−−−−−−−−−−−−→ CH3 − COOH

KMnO4

https://dl.doubtnut.com/l/_SoPPua5VxfC5
https://dl.doubtnut.com/l/_Fz4mDo6z5bfq


Answer: B

Watch Video Solution

7. Oils on treating with hydrogen in the presence of

palladium or nickel catalyst from fats. This is an example of (

ऑयल को जब हाईड्रो जन से क्रिया करवाते है उत्प्रेरक की उपस्थिति मे तो यह

किस का उदाहरण है )

A. Addition reaction

B. Substitution reaction

C. Displacement reaction

D. Oxidation reaction

Answer: A

h id l i

https://dl.doubtnut.com/l/_Fz4mDo6z5bfq
https://dl.doubtnut.com/l/_Vh0mSZXwa5Oj


Watch Video Solution

8. In which of the following compounds -OH is the functional

group ?

A. Butanone

B. Butanol

C. Butanoic acid

D. Butanal

Answer: B

Watch Video Solution

9. The soap molecule has a

https://dl.doubtnut.com/l/_Vh0mSZXwa5Oj
https://dl.doubtnut.com/l/_BjwxAaUND5s9
https://dl.doubtnut.com/l/_7PS7PCT7fqDE


A. hydrophilic head and a hydrophobic tail

B. hydrophobic head and a hydrogphobic tail

C. hydrophoice head and a hydrophilic tail

D. hydrophobic head and a hydrophobic tail

Answer: A

Watch Video Solution

10. Which of the following is the correct representation of

electon dot structure of nitrogen ?

A. 

B. 

https://dl.doubtnut.com/l/_7PS7PCT7fqDE
https://dl.doubtnut.com/l/_pZQoB6zB4QIV


C. 

D. 

Answer: D

Watch Video Solution

11. Structural formula of ethyne is

A. 

B. 

C. 

D. 

H − C ≡ C − H

H3 − C ≡ C − H

https://dl.doubtnut.com/l/_pZQoB6zB4QIV
https://dl.doubtnut.com/l/_J6ZXS0KkUgfJ


Answer: A

Watch Video Solution

12. Indentify the unsaturated compounds from the following. 

(i) Propane 

(ii) Propene 

(iii) Propyne 

(iv) Chloropropane

A. (i) and (ii)

B. (ii) and (iv)

C. (iii) and (iv)

D. (ii) and (iii)

https://dl.doubtnut.com/l/_J6ZXS0KkUgfJ
https://dl.doubtnut.com/l/_x8ecB992hk2V


Answer: D

Watch Video Solution

13. Chlorine reacts with saturated hydrocarbons at room

temperature in the

A. absence of sunlight

B. presence of sunlight

C. presence of water

D. presence of hydrochloric acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_x8ecB992hk2V
https://dl.doubtnut.com/l/_6LPYT0aHq5vC
https://dl.doubtnut.com/l/_fIAyLU1ZrfUs


14. In the soap micelles

A. the ionic end of soap is on the surface of the cluster

while the carbon chain is in the interior of the cluster.

B. ionic end of soap is in the interior of the cluster and

the carbon chain is out of the cluster.

C. both innic end and carbon chain are in the interior of

the cluster.

D. both ionic end and carbon chain are on the exterior of

the cluster.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fIAyLU1ZrfUs
https://dl.doubtnut.com/l/_2kOWBzKCRPZa


15. Pentane has the molecular formula . It has

A. 5 convalent bonds

B. 12 covalent bonds

C. 16 covalent bonds

D. 17 covalent bonds

Answer: C

Watch Video Solution

C5H12

16. Structural formula of benzene is

A. 

https://dl.doubtnut.com/l/_2kOWBzKCRPZa
https://dl.doubtnut.com/l/_bNDVJIkT26ox


B. 

C. 

D. 

Answer: C

Watch Video Solution

17. Ethanol reacts with sodium and forms two products.

These are

https://dl.doubtnut.com/l/_bNDVJIkT26ox
https://dl.doubtnut.com/l/_z6QCkL7g0avV


A. sodium ethanoate and hydrogen

B. sodium ethanoate and hydrogen

C. sodium ethoxide and hydrogen

D. sodium ethoxide and oxygen

Answer: C

Watch Video Solution

18. The correct structural formula of butanoic acid is

A. 

B. 

H −

H

∣

C
∣

H

−

H

∣

C =

H

∣

C −

O

∣ ∣

C − OH

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C
∣

H

− OH

https://dl.doubtnut.com/l/_z6QCkL7g0avV
https://dl.doubtnut.com/l/_nM2psNyddF3Q


C. 

D. 

Answer: D

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

− OH

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C − OH

19. Vinegar is a solution of

A.  acetic acid in alcohol

B.  acetic acid in alcohol

C.  acetic acid in water

D.  acetic acid in water

50 % − 60 %

5 % − 8 %

5 % − 8 %

50 % − 60 %

https://dl.doubtnut.com/l/_nM2psNyddF3Q
https://dl.doubtnut.com/l/_AiKqVMmELKui


Answer: C

Watch Video Solution

20. Mineral acids are stronger acids than carboxylic acids

because 

(i) mineral acids are completely ionised. 

(ii) carboxylic acids are completely ionised. 

(iii) mineral acids are partially ionised. 

(iv) carboxylic acids are partially ionised.

A. (i) and (iv)

B. (ii) and (iii)

C. (i) and (ii)

D. (iii) and (iv)

https://dl.doubtnut.com/l/_AiKqVMmELKui
https://dl.doubtnut.com/l/_Lq1hufF9lYg0


Answer: A

Watch Video Solution

21. Carbon forms four covalent bonds by sharing its four

valence electrons with four univalent atoms, e.g., hydrogen.

After the formation of four bonds, carbon attains the

electronic configuration of

A. helium

B. neon

C. argon

D. krypton

Answer: B

h id l i

https://dl.doubtnut.com/l/_Lq1hufF9lYg0
https://dl.doubtnut.com/l/_GlmDzqqLTxdt


Watch Video Solution

22. The correct electron dot structure of a water molecule is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GlmDzqqLTxdt
https://dl.doubtnut.com/l/_ArwaUw1u3gsG


23. Which of the following is not a straight chain

hydrocarbon ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3C − CH2 − CH2 − CH2 − CH2
∣

CH3

H3C − CH2 − CH2 − CH2 − CH2 − CH3

H2

CH3

∣

C − H2C − H2C − CH2
∣

CH3

24. Which amond the following are unsaturated

hydrocarbons ? 

https://dl.doubtnut.com/l/_Afdn8aVaa5w7
https://dl.doubtnut.com/l/_vy1UmMRe4Ytw


(i)  


(ii)  


(iii)  

(iv) 

A. (i) and (iii)

B. (ii) and (iii)

C. (ii) and (iv)

D. (iii) and (iv)

Answer: C

Watch Video Solution

H3C − CH2 − CH2 − CH3

H3C − C ≡ C − CH3

H3C − CH
∣   

CH3

− CH3

H3C − C
∣

CH3

= CH2

https://dl.doubtnut.com/l/_vy1UmMRe4Ytw


25. Which of the following does not belong to the same

homologous series ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4

C2H6

C3H8

C4H8

26. The name of the compound  is

A. Propanal

CH3 − CH2 − CHO

https://dl.doubtnut.com/l/_F8lL6Aa2Ikp3
https://dl.doubtnut.com/l/_kzFvFjbfkeAQ


B. Propanone

C. Ethanol

D. Ethanal

Answer: A

Watch Video Solution

27. The heteroatoms present in 

 


(i) oxygen, (ii) carbon 

(iii) hydrogen, (iv) chlorine

A. (i) and (ii)

B. (ii) and (iii)

CH3 − CH2 − O − CH2 − CH2Cl

https://dl.doubtnut.com/l/_kzFvFjbfkeAQ
https://dl.doubtnut.com/l/_ltggh8wOTt3f


C. (iii) and (iv)

D. (i) and (iv)

Answer: D

Watch Video Solution

28. Which of the following represents saponification reaction

?

A. 

B. 

C. 

CH3COONa + NaOH
CaO

−−→ CH4 + Na2CO3

CH3COOH + C2H5OH
H2SO4

−−−→ CH3COOC2H5 + H2O

2CH3COOH + 2Na → 2CH3COONa + H2

https://dl.doubtnut.com/l/_ltggh8wOTt3f
https://dl.doubtnut.com/l/_IAfGx28xi4yV


D. 

Answer: D

Watch Video Solution

CH3COOC2H5 + NaOH → CH3COONa + C2H5OH

29. The first member of alkyne homologous series is

A. ethyne

B. ethene

C. propyne

D. methane

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_IAfGx28xi4yV
https://dl.doubtnut.com/l/_Ze313aVeNRtV


Ncert Exemplar Short Answer Questions

Watch Video Solution

1. Draw the electron dot structure of ethyne and also draw its

structural formula.

Watch Video Solution

2. Write the names of the following compounds : 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C − OH

https://dl.doubtnut.com/l/_Ze313aVeNRtV
https://dl.doubtnut.com/l/_vTlYnERdwH7L
https://dl.doubtnut.com/l/_iRSkXSDRMY7u


3. Write the names of the following compounds : 

`

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C − ≡ C − H

4. Write the IUPAC names of the following compounds : 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

− −

H

∣

C = O

5. Write the names of the following compounds : 

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C − H

https://dl.doubtnut.com/l/_rtnUWSDZTtPo
https://dl.doubtnut.com/l/_nbV3FWc6OGju
https://dl.doubtnut.com/l/_ZVAvRtYy0xqA


Watch Video Solution

6. Identify and name the functional groups present in the

following compounds. 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

− OH

7. Identify and name the functional groups present in the

following compounds. 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C − OH

https://dl.doubtnut.com/l/_ZVAvRtYy0xqA
https://dl.doubtnut.com/l/_xPnepj0uP7Cz
https://dl.doubtnut.com/l/_IwKJHjDwp5JW
https://dl.doubtnut.com/l/_0kYIXJfCeRGV


8. Identify and name the functional groups present in the

follwing compounds. 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C −

O

∣ ∣

C
∣

H

−

H

∣

C
∣

H

− H

9. Identify and name the functional groups present in the

following compounds. 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C =

H

∣

C − H

https://dl.doubtnut.com/l/_0kYIXJfCeRGV
https://dl.doubtnut.com/l/_Euv6rlGTa6GM


10. A compounds X is fromed by the reaction of a carboxylic

acid  and an alcohol in the presence of a few drops

of . The alcohol on oxidation with alkalne 

followed by acidification gives the same carboxylic as used in

this reaction. Give the names and structures of (a) carboxylic

acid, (b) alcohol and (c ) the compound X. Also write the

reaction.

Watch Video Solution

C2H4O2

H2SO4 KMnO4

11. A compound X is formed by the reaction of a carboxylic

acid  and an alcohol in the presence of a few drops

of  .The alcohol on oxidation with alkaline 

followed by acidification gives the same carboxylic acid as

C2H4O2

H2SO4 KMnO4

https://dl.doubtnut.com/l/_mML9zvjpkLIb
https://dl.doubtnut.com/l/_qOW3jAN0Jma0


used in this reaction .Give the names and structures of : 

Alcohol

Watch Video Solution

12. A compound X is formed by the reaction of a carboxylic

acid  and an alcohol in the presence of a few drops

of  .The alcohol on oxidation with alkaline 

followed by acidification gives the same carboxylic acid as

used in this reaction .Give the names and structures of : 

The compound X. Also write the reaction.

Watch Video Solution

C2H4O2

H2SO4 KMnO4

13. Why detergents are better cleansing agents than soaps ?

Explain.

https://dl.doubtnut.com/l/_qOW3jAN0Jma0
https://dl.doubtnut.com/l/_PkIaTBFz1eoU
https://dl.doubtnut.com/l/_YPXBh277sHfs


Watch Video Solution

14. Name the functional groups present in the following

compounds. 

Watch Video Solution

CH3COCH2CH2CH2CH3

15. Name the functional groups present in the following

compounds : 

Watch Video Solution

CH3CH2CH2COOH

https://dl.doubtnut.com/l/_YPXBh277sHfs
https://dl.doubtnut.com/l/_L2f4bJz67fL4
https://dl.doubtnut.com/l/_z60SRiSazMsG


16. Name the functional groups present in the following

compounds. 

Watch Video Solution

CH3CH2CH2CH2CHO

17. Name the functional groups present in the following

compounds. 

Watch Video Solution

CH3CH2OH

18. How is ethane prepared from ethanol ? Give the reaction

involved in it .

Watch Video Solution

https://dl.doubtnut.com/l/_IKLCl8vLgyzc
https://dl.doubtnut.com/l/_pYcXViTGgYUs
https://dl.doubtnut.com/l/_OFfzd8NHAdK2


Watch Video Solution

19. Intake of small quantity of methanol can be lethal.

Comment.

Watch Video Solution

20. A gas is evolved when ethanol reacts with sodium. Name

the gas evolved and also write the balanced chemical

equation of the reaction involved.

Watch Video Solution

21. Ethene is formed when ethanol at 443 K is heated with

excess of concentrated sulphuric acid. What is the role of

https://dl.doubtnut.com/l/_OFfzd8NHAdK2
https://dl.doubtnut.com/l/_gYTrSbYjUoCl
https://dl.doubtnut.com/l/_b3dDf2TnJpvz
https://dl.doubtnut.com/l/_0NStdPqVLvqZ


acid in the this reaction ? Write the balanced chemical

equation of this reaction.

Watch Video Solution

22. Carbon ,group (14) element in the periodic table ,is known

to form compounds with many elements. Write an example of

a compound formed with 

Chlorine (group 17 of periodic table)

Watch Video Solution

23. Carbon ,group (14) element in the periodic table ,is known

to form compounds with many elements. Write an example of

a compound formed with 

Oxygen (group 16 of periodic table)

https://dl.doubtnut.com/l/_0NStdPqVLvqZ
https://dl.doubtnut.com/l/_GREDMEqIVDsI
https://dl.doubtnut.com/l/_VZNvmlZVOmkD


Watch Video Solution

24. In electron dot structure ,the valence shell electrons

represented by crosses or dots. 

The atomic number of chlorine is 17. Write its electronic

configuration.

Watch Video Solution

25. In electron dot structure ,the valence shell electrons

represented by crosses or dots. 

Draw the electron dot structure of chlorine molecule.

Watch Video Solution

https://dl.doubtnut.com/l/_VZNvmlZVOmkD
https://dl.doubtnut.com/l/_yIDPJGskocyv
https://dl.doubtnut.com/l/_K5vS0zb2CIrj
https://dl.doubtnut.com/l/_ogY6Guoru64U


26. Catenation is the ability of an atom to form bonds with

other atoms of the same element . It is exhibited by both

carbon and silicon. Compare the ability of catenation of the

two elements .Give reasons.

Watch Video Solution

27. Unsaturated hydrocarbons contain multiple bonds

between the two C-atoms and show addition reaction. Give

the test to distinguish ethane from ethene.

Watch Video Solution

28. Match the reaction given in Coloumn (A) with the names

given in column (B). 

https://dl.doubtnut.com/l/_ogY6Guoru64U
https://dl.doubtnut.com/l/_lAvpWWg1pGeK
https://dl.doubtnut.com/l/_59VGQH87OWEl


Watch Video Solution

29. Write the structural formulae of all isomers of hexane.

Watch Video Solution

https://dl.doubtnut.com/l/_59VGQH87OWEl
https://dl.doubtnut.com/l/_xPEjbg99zTI5


30. What is the role of metal or reagents written on arrows in

the given chemical reactions? 

Watch Video Solution

31. State the role of reagents shown on arrows in the

following chemical reactions. 

Watch Video Solution

CH3COOH + CH3CH2OH
Conc.H2SO4

−−−−−−→ CH3COOC2H5 + H2O

https://dl.doubtnut.com/l/_TxEtzP3LcI7C
https://dl.doubtnut.com/l/_bQ4cI8p5W4Wc


Ncert Exemplar Long Answer Questions

32. State the role of reagents shown on arrows in the

following chemical reactions. 

Watch Video Solution

CH3CH2OH
KMnO4

−−−−→ CH3COOH

1. A salt X is formed and a gas is evolved when ethanoic acid

reacts with sodium hydrogen carbonate. Name the salt X and

the gas evolved. Describe an activity and draw the diagram of

the apparatus to prove that the evolved gas is the one which

you have named. Also, write the chemical equation of the

reaction involved.

Watch Video Solution

https://dl.doubtnut.com/l/_DRLv2yg26358
https://dl.doubtnut.com/l/_JixSc9oKtU8V


2. What are hydrocarbons? Give examples

Watch Video Solution

3. Give the structural differences between saturated and

unsaturated hydrocarbons with two examples

Watch Video Solution

4. What is a functional group? Give examples of four different

functional groups.

Watch Video Solution

https://dl.doubtnut.com/l/_JixSc9oKtU8V
https://dl.doubtnut.com/l/_dqpi9lS7NjY3
https://dl.doubtnut.com/l/_OYu3XgDwSoZl
https://dl.doubtnut.com/l/_gczKuzreRY1W
https://dl.doubtnut.com/l/_hqjfSbRXQXhA


5. Name the reaction which is commonly used in the

conversion of vegetable oil to fats. Explain the reaction

involved in detail.

Watch Video Solution

6. Write the formula and draw electron dot structure of

carbon tetrachloride.

Watch Video Solution

7. What is saponification? Write the reaction involved in this

process.

Watch Video Solution

https://dl.doubtnut.com/l/_hqjfSbRXQXhA
https://dl.doubtnut.com/l/_2cr37PZc9beh
https://dl.doubtnut.com/l/_yKoX7XQUkWjd
https://dl.doubtnut.com/l/_U1J7bBysfSl5


8. Esters are sweet-smelling substances and are used in

making perfumes. Suggest some activity and the reaction

involved for the preparation of an ester with well labelled

diagram.

Watch Video Solution

9. A compound C (molecular formula, ) reacts with

Na metal to form a compounds R and evolves a gas which

burns with a pop sound. Compound C on treatment with an

alcohol A in the presence of an acid form a sweet smelling

compound S (molecular formula, . On addition of

NaOH to C, it also gives R and water.S on treatment with

NaOH solution gives back R and A. 

Identify C,R,A,S and write down the reactions involved.

C2H4O2

C3H6O2)

https://dl.doubtnut.com/l/_U1J7bBysfSl5
https://dl.doubtnut.com/l/_2IiObGgIOLjC


Watch Video Solution

10. Look at figure and answer the following questions: 

 

What change would you observe in the calcium hydroxide

solution taken in tube B?

View Text Solution

https://dl.doubtnut.com/l/_2IiObGgIOLjC
https://dl.doubtnut.com/l/_ufzX3hB1xPBv


11. Look at figure and answer the following questions: 

 

Write the reaction involved in test tubes A and B respectively

.

View Text Solution

https://dl.doubtnut.com/l/_yFZp1ELNacJO


12. Look at figure and answer the following questions: 

 

If ethanol is given instead of ethanoic acid ,would you expect

the same change?

View Text Solution

https://dl.doubtnut.com/l/_HHJWKqXYxwrr


13. Look at figure and answer the following questions: 

 

How can a solution of lim water be prepared in the

laboratory?

View Text Solution

14. How would bring about the following conversions ? Name

the process and write the reaction involved. 

ethanol to ethene.

Watch Video Solution

https://dl.doubtnut.com/l/_Q8miX4ydfRSI
https://dl.doubtnut.com/l/_cAtwJyWYD7Ar


15. How would bring about the following conversions ? Name

the process and write the reaction involved. 

propanol to propanoic acid. Write the reactions.

Watch Video Solution

16. Draw the possible isomers of the compound with

molecular formula  and also give their electron dot

structures.

Watch Video Solution

C3H6O

17. Explain the given reaction with the examples : 

Hydrogenation reaction

https://dl.doubtnut.com/l/_cAtwJyWYD7Ar
https://dl.doubtnut.com/l/_GWwy6Pp8Fzyv
https://dl.doubtnut.com/l/_FOgH5yw2B9Su
https://dl.doubtnut.com/l/_1iWEqxt7Ug7V


Watch Video Solution

18. Explain the following reactions with examples : 

Oxidation reaction

Watch Video Solution

19. Explain the given reaction with the examples : 

Substitution reaction

Watch Video Solution

20. Explain the given reaction with the examples : 

Saponification reaction

W t h Vid S l ti

https://dl.doubtnut.com/l/_1iWEqxt7Ug7V
https://dl.doubtnut.com/l/_vkqWJuOOkVXL
https://dl.doubtnut.com/l/_SCt2aA0vEQnF
https://dl.doubtnut.com/l/_FbewMtT0YPIU


Watch Video Solution

21. Explain the following reactions with examples : 

Combustion reaction

Watch Video Solution

22. An organic compound A on heating with concentrated

 forms a compound B which on addition of one mole

of hydrogen in presence of Ni forms a compounds C. One

mole od compound C on combustion form two moles of 

and three moles of . Identify the compounds A,B and C

write the chemical equation of the reactions involved.

Watch Video Solution

H2SO4

CO2

H2O

https://dl.doubtnut.com/l/_FbewMtT0YPIU
https://dl.doubtnut.com/l/_m9LMteyjUpQO
https://dl.doubtnut.com/l/_4onmr4PodwRl


Board Corner Very Short Answer Type Questions

1. Write the molecular formula of first two members of

homologous series having functional group-CI.

Watch Video Solution

2. Write the molecular formula of first two members of

homologous series having functional group-Br.

Watch Video Solution

3. Write the molecular formula of first two members of

homologous series having functional group - OH .

Watch Video Solution

https://dl.doubtnut.com/l/_ybwgHa9eOpjp
https://dl.doubtnut.com/l/_cEIVRVGLKNGj
https://dl.doubtnut.com/l/_ARfPVL0xLm4P


Board Corner Short Answer Type Questions

4. Write the molecular formula of the  and the  member

of the homologous series whose first member is methane.

Watch Video Solution

2nd 3rd

5. Write the molecular formula of the  member of

the homologous series whose first member is ethene.

Watch Video Solution

2nd and 3rd

https://dl.doubtnut.com/l/_ARfPVL0xLm4P
https://dl.doubtnut.com/l/_tMt1kSP6ixBS
https://dl.doubtnut.com/l/_J5zaWR55pm5d


1. What is a homologous series of carbon compounds? Give

an example and list its three characteristics.

Watch Video Solution

2. Which compounds are called (i) alkanes , (ii) alkenes and

(iii) alkynes ?  belongs to which of these ? Draw twi

structural isomers of this compound.

Watch Video Solution

C4H10

3. A compound 'X' on heating with excess conc. Sulphuric acid

at 443 K gives an unsaturated compound 'Y' . 'X' also reacts

with sodium metal to evolve a colourless gas 'Z'. Identify 'X','Y'

and 'Z'. Write the equation of th chemical reaction of

https://dl.doubtnut.com/l/_39milSBaGRqG
https://dl.doubtnut.com/l/_NzLcJimBXEOL
https://dl.doubtnut.com/l/_MWFQ1xhOdlCb


formation of 'Y' and also write the role of sulphuric acid in

the reaction.

Watch Video Solution

4. Why are most carbon compounds poor conductors of

electricity?

Watch Video Solution

5. Write the name and structure of a saturated compound in

which the carbon atoms are arranged in a ring .Give the

number of single bonds present in this compound .

Watch Video Solution

https://dl.doubtnut.com/l/_MWFQ1xhOdlCb
https://dl.doubtnut.com/l/_yArSsbo9DcCh
https://dl.doubtnut.com/l/_dBmTolj5fJJa
https://dl.doubtnut.com/l/_C97UzaK1gn3m


6. Complete the following equations : 

Watch Video Solution

CH3COOC2H5 + NaOH →

7. Complete the following equations : 

Watch Video Solution

CH3COOH + NaOH →

8. Complete the following chemical equations : 

Watch Video Solution

C2H5OH + CH3COOH
ConcH2SO4

−−−−−−→

https://dl.doubtnut.com/l/_C97UzaK1gn3m
https://dl.doubtnut.com/l/_eI6LhxT07GJs
https://dl.doubtnut.com/l/_3f2AWYlwXYfm


9. Two carbon compound X and Y have the molecular formula

 and  respectively which one is most likely to show

addition reaction? Justify your answer, also give the chemical

equation to explain the process of addition reaction in this

case.

Watch Video Solution

C3H6 C3H8

10. Complete the following equations : 

Watch Video Solution

CH3COOH + Na2CO3 →

11. Complete the following equations : 

CH4 + O2 →

https://dl.doubtnut.com/l/_sGc2SVrmbQao
https://dl.doubtnut.com/l/_gcoOpJkEAWEc
https://dl.doubtnut.com/l/_NpiQk3al6paI


Watch Video Solution

12. Complete the following equations : 

Watch Video Solution

C2H5OH + Na →

13. Two carbon compound X and Y have the molecular

formula  and  respectively which one is most likely

to show addition reaction? Justify your answer, also give the

chemical equation to explain the process of addition reaction

in this case.

Watch Video Solution

C3H6 C3H8

https://dl.doubtnut.com/l/_NpiQk3al6paI
https://dl.doubtnut.com/l/_TMZWXktfX2oR
https://dl.doubtnut.com/l/_NDkgDQQRWgfK
https://dl.doubtnut.com/l/_8omSGjur2lnY


14. Complete the following chemical equations: 

Watch Video Solution

C2H5OH + O2 →

15. Complete the following chemical equations : 

Watch Video Solution

C2H5OH
ConcH2SO4

−−−−−−→
443K

16. Complete the following chemical equations : 

Watch Video Solution

CH3COON + NaHCO3 →

https://dl.doubtnut.com/l/_8omSGjur2lnY
https://dl.doubtnut.com/l/_w2HcLQjVnCI6
https://dl.doubtnut.com/l/_6jv7ZgpHgGW2


17. Two carbon compound X and Y have the molecular

formula  and  respectively which one is most likely

to show addition reaction? Justify your answer, also give the

chemical equation to explain the process of addition reaction

in this case.

Watch Video Solution

C3H6 C3H8

18. Write the structural formula of ethanol. What happens

when it is heated with excess of conc.  acid at 443 K?

Write the chemical equation for the reaction, stating the role

of conc.  acid in this reaction.

Watch Video Solution

H2SO4

H2SO4

https://dl.doubtnut.com/l/_kmr3AH4uckDw
https://dl.doubtnut.com/l/_yPO638S2nmCN


19. Distinguish between esterification and saponification

reactions of organic compounds with the help of the

chemical equation for each. Write one use of (i) esters and (ii)

saponification process?

Watch Video Solution

20. What happens when ethanol is burnt in air ?

Watch Video Solution

21. What happens when (write chemical equation in each

case) 

ethanol is heated with excess conc .  at 443 K?

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_caLpOk6Npei7
https://dl.doubtnut.com/l/_Uv6ICfLTP4EM
https://dl.doubtnut.com/l/_OuXMUkkOfoHR


Board Corner Long Answer Type Questions

Watch Video Solution

22. What happens when a small piece of sodium is dropped

into ethanol?

Watch Video Solution

23. Explain esterfication reaction with the help of a chemical

equation .Describe an activity to show esterification.

Watch Video Solution

https://dl.doubtnut.com/l/_OuXMUkkOfoHR
https://dl.doubtnut.com/l/_ajIuuPBkQ1OH
https://dl.doubtnut.com/l/_Im0mBy486ZtB


1. Write the chemical formula and name of the compound

which is the active ingredient of 

all alcoholic drinks. List its two uses. Write chemical equation

and name of the product 

formed when this compound reacts with- 

(i) sodium metal 

(ii) hot concentrated sulphuric acid

Watch Video Solution

2. What is methane? Draw its electron dot structure. Name

the type of bonds formed in this 

compound. Why are such compounds: 

(i) poor conductors of electricity? and 

(ii) have low melting and boiling points? What happens when

https://dl.doubtnut.com/l/_roc99H89wJv1
https://dl.doubtnut.com/l/_8vIWjf1ownaZ


this compound burns in 

oxygen.

Watch Video Solution

3. Both soap and detergent are some type of salts. What is

the difference between them? 

Describe in brief the cleansing action of soap. Why do soaps

not form lather in head water?

List two problems that arise due to the use of detergents

instead of soaps .

Watch Video Solution

4. Why are certain compounds called hydrocarbons? Write

the general formula for homologous series of alkenes and

https://dl.doubtnut.com/l/_8vIWjf1ownaZ
https://dl.doubtnut.com/l/_H9B4UOs5veLw
https://dl.doubtnut.com/l/_qdsu8fCkED63


alkynes and also draw the structure of the first member of

each series. Write the name of the reaction that converts

alkenes into alkanes and also write a chemical equation to

show the necessary conditions for the reaction to occur.

Watch Video Solution

https://dl.doubtnut.com/l/_qdsu8fCkED63

